Practice 1: Exponents & Polynomials

Directions: Evaluafe each expression.
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Directions: Simplify each expres

sion. Final answers must contain positive exponents.
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Directions: Simplify each expression. Classify each answer by degree and number of terms.

22. (11x—5)+(3x-14)

EL}X A ; T
Linhear Binomial

23. (1-7a)=(7a-16)

—l"“ﬂ.'l' r‘l .J
Linear Binomial

24. (-5k* =11k +18) + (3k% + 8k - 2)
-2K*- 2k +b,
Ruadrahc Trinomial

25. (7y° +16y> —14)—(8y° -5y -11)
N3 4lby24sy -3;

t Cubic Polynomial /

26. 8(-3m+3)—6(5m + 4)
-24m+24 -3om -24

=[=84m ; Linear Monomial]

27. m(m® = 5m* + 7m) — m(m*® =)
W -5m24 Tm2-m34 m
sImi-lom3 +Tm24m ;

Ruayryc Ponomial J

28. (3x-8)(2x+ 1)
bX%43X -y -9

X% -13Xx -8
Q wmhe Trinomial

29. (8p2-4)(p-2)

PFB-MPLL\‘OHJ
Cubic Polynomiol

\

30. (x-4y)(5x+3y) 31. (7e-d)(7c+d)
Sx2 43y -2bxy -12y2 19r2 4 Jed -led -d 2
=F>X2—l‘b<5 —1232)- :chz _cl?-}
Quadratc Trinomiat Quadrat'c Binomial
32. (Bv+4)? 33. (9-5y)°
(3utd(3u+4) (A-54(A-5y)
= Qu2412va12v ¥\ =g -45-45y + 25y *
. ' i T . e
(A2 24V 410 &uﬁmfiw 12542-04 491 Quagﬁm?nidj
34, (2w-1)° 35. (n+4)*(Bn® -7n+1)

(2W-DY(HW2-Hw ¥ 1)
= Bw3- W ¥ 2w - Hw 24 Hw -

W 3-12wWA bw -1
Cubic Polynomial

(248N 4 1) (3n2-Tn +1)
=304 1n34n24 24n32-5Ln 243N
A4 N2 -12Nn +)0

=|3n4 +1TN3 - In* - 1o4n 1L
| Guarbc Polunomial




Practice 2: Factoring Polynomials

Directions: Factor out the greaiest common factor.

1. Bx* +12x% - 20x

Y¥ (2534 3% -5)

2, -18a°h + 27

~A02p (20 -3)

3. 5ctd ~15cd® — 3ed

cd(503~ 1692 -3)

4, ~10r56% +18r%° —~ s’

~2vs? (571 -Ars 4352)

Directions: Identify the special factoring pattern

, then factor,

5. 4m'-250"  Dife.p¢ SQUATES

1

4. §k9n64 Piff. of gquares
21 2.
(Zm245n)(Zm2-5n) (£ Xre)(Fr-9)
7. 847 118 Sum pf ¢bes 8. 1~1254° BifL of Cubrs

(22 49b) (%~ 9o+ 81b2)

(-8 + B+ 26K3)

9, b4y® - Diff of Cubes

Ux-y2) X *+Hxy? +yH)

10. 2]6;}3 +]25t‘]3 Sum pf Cubes

Lop+59) (3lp* ~30p + 2592)

Directlions: Factor ecch frinomiagl.

1, ¥ +12x+ 35 12, n* + 8 -9
¢+ X+ tn -1
13, p' —14p* + 48 14, ¢* - 50° -84

p? = €)p? -5)

(c2 - e+ 1)

15, 3x% +18x=10
3T+ T Y- 2R O
X (XY = 2 (YF3)
(22-2)(%+5)

16. 207 +13m 220
"Zh’\ﬂl’ +Ev 4 St 2e

2o (i) S (e \)
&wj Comip gy

17. 5k =16k +12
Bl 1 ok— Gk + 12
DR (K-2) = b(K-D
K -6I)(B~2)

18. 6a” ~17a-14
Gk~ 2164 4 G—Y
3a@a-1)F 2 (z20-)
Bor2)(z6-7)
B W |

19, 1202 ~ w26
12W - GWARWN - 6
W (W - 3) + 2(IW-3)
Gwi+2) (4w -3 )

20, 9% + 4y ¥ 1
AN -3V DN |
VNt (aN)

—

(241 (AN (2D




Directions: Factor each polynomial by grouping terms.

21, ¥* +2x7 +5x+10
X2(X+2)+5(X + 2)

@45)0&2)‘

22. 4m® -12m° +3m -9
Um2(m-3) +3(n-3)

ILLim 243)(m —aﬂ

23 1 LBR* =R =4
212 (k) -1 (K+9)

[(2x2 -D (k)

24. 20w - 5w’ —8w+2
Swz{qw -1) -2 (w=1)

(5wZ-2)(Hw -1)

Directions: Factor each expression completely.

25. 3x* —48x°
AxZ(X2-16)

(352 (et D)

26. m'n—m'n’
mzn (mY —n")
mzn (m2+n2)(m2-n2)
[:len (m2+n1)(m+n)cm~n)}

27. -54k" + 2k

2% (27¢3-1)
|-2k (3K -D(Ax2+3k +1) |

28. 4p'q+ 32pqg*

4pg (p3+8493)

Hpa (p+24)(p* - 2pq *Ha>)

29. 8w’ —8w* — 48w
w3 (w?-w - ()
Fgﬁw -2)(wW+2)

30. —x'y+6x’y—5x"y
-X2y (X?=bx 45)
[-x2y (X-5)(X —1);{

31. 2¢%d? + 28c°d? + 98c°d?
20242 (¢2 + |4e + HA)
m c+NCe -FDI

32. 34" +154° +108
-3(a" -5a% - 306)
~z(aZ-a)(a?41))
C2a+®@-3)02 1)

33. 124> _20n 24

W(fmz-ﬁn -Lal‘

34. 20r's 205 1 5r%s
5¢2s (424 41)
Bﬁs (er—'I)(ZVE

35. 9n® —9n° - 25n + 25
AnZ(n-1) -25(n-1)
(anz-25)N-D
[(2n45)(3n-BX(n-) |

368. 55 —20x° +5x* =20
543 (6&H) + 5(%Z-1)
(5%3 45)(¥Z-4)

5(x3+1) (X Z4)
(B0x+ DX Z-X+ DX +2)(x-2) |

4




Practice 3: Rational Expressions

Directions: Simplify each expression.

=s 1 |
2X(X+))

] 2% —2x a*+a—20 2k -5k -3
I DT o el s Ml
4x* —4x 3éa —%a F—27
=2x(x-1) - (a3s)(@a-4) =(2%1)(k - 3)
Hx(x>-1) PH-a0) (k-3)(L2 43K +9)
= _X-1 =|= (a+5)
2ZX (X + D(X-1) _—#O{a. = | 2%+
k243Kk+9

Directions: Find each product or quotient. Give your answer in simplest form.

X +2x~24‘ x? +3x

4w? —-1lw-3 8w-2

2 +6x P -x-12 16w? -1 9—w?
L OADOCY)  x(x+3) _(Hw+ 1) (w-3) 2(§w-1)
X2(Xt0)  [xq)(x+3) (Mt DW= (3w)3tw)
= - o B
o 3‘; 34w |
6 e L] 2m* +3m = 8m? +12m
Ciehel 240 " om?-Tm-15 m*-25
| eaeny | e*4] =m(Zm+3)  (mt5)m-5)
(c24)(c?-) ¢+ @m+3)(m-5)  Ym (2m+3)
) ek = m(mts) mM+5s
(L+M)(e-D e+l LUy (2Zm+3) 4 (2m+3)
Directions: Find each sum or difference. Give your answer in simplest form.
<l @ a3 g & B
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— 20;"61 = X_—]
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Hyz

f—‘”: 3 2;;+32 P78 1 pa
p+4  p'-16 " =51+6 n-3 n-2
-12 7 =n%1n-13 n-z
+ 32 -
P2l + —F;L"_I"— N*6n+l  n2isn+b
«50+20 _ 5(pi) | = =n*tbn -l (n18)n-2) _[neg
Pz'“" CP"mpHS p- N%-5n +& n-2Y(1-3) h-3
}-;'2+ LS i 1 % e ] =3
Y4 y-7 y-4 N1 TR0 F24Br+l5 3
=24-% N r?4sr -y 13
VAN YRR (r+8)(r+3)(r-3)
= r2dr43 _ (r+3)rs) .-:‘ L. | [
= =1 " = = |
i‘;l__i = 3( y 5) Lr+5) (r+3)(—3) (r‘ﬁ)fﬂg)(rvg) (r4s)(r-3
NZ-lly422 (4-D-4)
Directions: Simplify each complex fraction.
;—-4~% Uhele. Bt 2345 btv ., _4v
ooy S SRS vves - v
kkk’-’ v 4 v Y = LtV . Yy
s Hk-l K Z  vte)vb)
[ 2 2(4k-1)
: o 2V
- | K -G
2
20. 2a b Qb 2 2 LbZ g g X%+ Y
e e e i — 0" - . S
Bo o s, L lSe:lb 2043b 17 i X (x+)*
2, 9 1. 3 (x+1)?
Z 3 9 S 4;
3 (_za.f%)(’za_gbl ) L b2 J =O(+l)()<z-x+0 i L;XL
\8ab 2043b X (x+1)
[ b(za-3b) 3 Hx2-x41)
S X1
18. Write an expression o represent the area of the rectangle below in simplest form.
2% (x*-10) | X
X+ N
2x° - 32x 4 (x-4)Z
x+4
=y = 20Dk . x-4 ]
3 g X+ Xz Y -4y
4():—4)2 “ 23{
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Practice 4: Radicals and Rational Exponents

Directions: Simplify each expression.

1.v80  Ji |5 2. 93250 -132s 3z |3 52 sYg YT
s 9.5 37 5247
-|-4597 JIE
436ty JauxiyE Jy |5 Ssms [mine J3n |6 JH1080%" IngnE Pig
= .i - g 3 -
| 10)(23 J‘I_j- = Em n 3an = -3f10r 3/;*_‘}"

Directions: Find each sum or difference. Give your answer in simplest radical form.

7 —SN/E+2W
= CNER X R E]

-0+ 13 =43 |

8. 20 + 46 - 3125
45 +\1p28 3025 |5

-2JS + 443 -15Js5
- 15 +4 (3]

9.@+5§6
Jo Yz + 5842
242 +547 -

1z

10. 9x33x* — 2324y
IYx® $ax - 23Jexe 2[3x
N 2ox - P8 = [5x23ax

Directions: Find each product. Give your answer in simplest radical form.

11. —3@-7\}@ 12. .\‘yz-J;sy_? 13. W@
‘”f@ i T Pluw?
-2 1
-21-4Jio
o > 4
. [3m | [y | [ Y |
14. V2(y20 +8) 15. (8+243)(8-2V3) 16. (V5 -1)?
J1o + V1w M -1bJ3 +1L{Z-4yq | (B-NEE-1)
[+ LY 12 {25 -5 -5 +)
| 5-2JS +I

[52 |

s [b-275 |




Directions: Find each quotient. Rationalize the denominator when necessary.

-1256  _ 48u°w'° J-80x°
7. 323 W Jloutw™ |19. 32x; J-uox
-7
L—- s HMHWUJ_M- ,J-—szf[g;
6 v 108 ¢ " 35 - 53
we, ] | S -Ll 0 x5
b 3 . g0 3\ 25x¢ 15 x3
= __\ry: =| VIO
g 5
Nz iz (5-23)(5+ 2V3)
sN12- 28 . 1043 - 4w 5y3 +2{q-I0-4\8 J§+f-’*°
' - 3
. |s03 - zJE} <2443
o 13
Directions: Write each expression in simplest radical form.
25. 125EI 3 25 26. m* -rz%‘ . m'n 7. (QP)% £2F)3
e e T R e
Directions: Write each expression in exponential form.
28. 26k (zuEJVZ 29. J(Sw)’ (Aw) 73 30. J12)° (1 2\l3)1/s

Directions: Simplify each expres

sion. Write each answer in simplest radical form.

2 5
31. k3. k¢ = \iafi

[

32. f’_f F%
P :Lifp—.;

-
-

2 20 s
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Practice 5: Complex Numbers

Directions: Write each radical as a complex number.
1. V=121 2. J-45 \I..o] Jg' 3 [ 8
v 4 L
Directions: Evaluate.
4.’ 5. i j 6. 4i' . 5
. " q\11 .3 )
35 = (L9)7 - .20 (2

—

=l‘—L’E

.-:ZO(bq)s(J =

]

7. (=311%)°
=-27("%

¢ 2" = 37

8. (2i) -(-5i")?

o 9. (i*VJ6)? - (—4i)°
=12%.7 25 ¢
= 32000 L *° = -384 0"

= 32000 £4)- ¢ = (32000 ¢ |

= Li¥ - -wyd

- -384((4)* L

Directions; Simplify.

10. (5+7i) +(~13—4i)

11. (8 +5i) = (6 +4i)

gl

12. (7= -5 +5)

ok

£l

13. (-16-3i)+(-3-8i)

! = =lle R

14. 3i(-5+7i)

15. (8 + 21) — 4i(10 - 37)

1650 + 21 % ~Qi-20Z -H0C 1202
2 -4¢l -12
~21715L NPT
16. (5+i)(2-1) 17. (-1-4)(11+6i)
0-5¢42( -i? Al =l -4d - 7y 2
b 2 | -1l =500 424
@ jl&-SoL l
18. (—7+2f)(—7—25) 19. (2_31)2

HA 414¢-14¢ -4 (2

4944 =53

(23 M2=30)
d-li-lkitqc?

H =) 2L =9 -'.-S—IZ.L'?




4 sl s (__5 2i)¢ 22_(ﬂ)'i

2i -u 6i + L -9i.L
= -'__i_:'___ - _E_ "5(., 2 5(_. ..21—5{,. =L\l-,+l:1 " -I 'i"'il..
2t* 2| lu. -l L | -9i 9
23 LS (b-2¢) 94, (4+10i)(- 3+0)
(6 +21)b-22) (£3-) (-3+0)
20 -WE L M2l |14l || -124de-30i 0t o -22 - Zbe
B42i 204" Ty 20 | A -3, +3( -(* 10
= "“ "igd
1 3 ‘

Directions: Simplify each expression. Write your answer as a complex number in simplest form.

25. J-24 .3 26. \J-8-4/-12

- W23 =8 - i1z

= L\h_z— "3 L r

- W37 = [LilZ S PRCEES
27. J-6(-8 -2\/2) 28. 5J-2(4++/-10)

= W (g -242) =502 (4+i1B)

- " - 20412 = 20i{2 +50° {2

= -3 - 2004 |3 = 20iVZ -5{q {5

|43 -4 =F10%5 + 20042 |
29. (5-+-24)(5+-24) 30. (-3++/-12)

= 6- VA 5+ i) - (-3 4 LN12) (-3 +il12.)

= 25 +50{2 - 503 - 242 == 32 -30412 + 124"

=0- iz =12
=25 2 i |
D =-2-pi\4iz = \-3-12&[_3.

31 6_]‘2‘? 32. 2*‘13

=-2 _ [3-4C - 2+ i3z

T == !
s 2% e 2. . 244iV2 | 1+20z
4 i b B
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Practice é: Linear & Absolute Value Equations

Directions: Solve each equation.

1. 7(m-9)-2m=12
“Tm 43 -2m =12
“Im= -5

[m=1]
o s i5]

~2(9 - 5k)
.. i
8

-18+10K~= -4¢
DK = -3D

3. 16=9-4(2r+7)-1

lb:q-gr_lg -_‘ 922 (-S-L
Zy-g=Lx47
\p = _gr_ZD 2 =3 » X
SX=)8
3= Br
< Al x=30
=
5. -8(4n-1)=2(9-3n) 6. -3(4-8p)+b6=4(6p-1)-2
32n 43 = 13-bn ~12424p 1= 24p -4 -2
_%ﬂ ]D zg_tp__b '-’ZI.‘F"b
-l’ :_(ﬂ

n= -5
I3

oo |

7. -%(1 2u—18) 432 = —8(7 + 2v)
W+ 24+32=-54 ~lbv

v +50 = “56 -1V
50 F -50

[o]

8. 5(x-3)-(2x-1) :—8[4—%1)
5X-15-2X ] = 32 +4X
3x-I4 = 4x-32
18 =X

Directions: Solve each equation for the specified variable.

(solve for r)

9. Jr::c—2frr
360
20L= X 2Ty :
360L ., |y= l@iz
X -2 XT_|

1
10. c=—(a® +b
c 3(0 )

3=0%+b

3cr—ﬁc o

(solve for a)

11




1. 3)!—,1.::_4 (sclve for ) 12, p—rs=2rs+5 (solve for r)
G r-3rs =5
353—¥=-12 ¥SX r(1-3s)-5
3(6 S-12+9x =25
| -3s
Y= 143X
Directions: Solve each equation. Check for extraneous solutions.
13. [7x+7|=77 14. 64 =|-11w]+9
%41 =11 T4 = =11 55=|-llw]|
I= T0 %= =R5 55 = -||w -55= ~[lw
X =10 Y= =VZ W= -5 ife
rx-‘i—rz 107 \W=§-s,5}
5. ar 1= 4 16. 5|p-2|-1=29
\ba+‘1| =3 51?-2l=30
lla+q:3 (pa+‘51='3 lf,z_]:(p
ba= -0 ba=-12 i
- 0=-2 P-..Z- b sz;,_:ib
p=¢ P
0-1-2,-11| [p=5-4.83]
17. 92=-10[2—4n|+8 18. 9lr+ 8| -4 =-22
-100 = -10 | 2-4n ]| U rtg|=-1g
o= |2-4n] lrag] = -2
b= 2-4n -10= 2-4n \
Q =_qn -|?_-.-.-L}n NO ngu‘hon
-lzh 3:n nﬂ'2|3}
19. 4v=3=[2v+9| 20. 1192+3-1=34-7
Uy -3 = 2y+9 ~Hy+3= 2v+] i\"la+3|=3a~u
V=12 -by=b = _
56 Vet 1%+3] = ba-12
Aa+3=ba-12  4a+3=-batiz
V’L" 3&:[6 15a=9 e
0=5 heg _
12




Practice 7: Quadratic Equations

Directions: Solve each equation by factering.

1. X*+x-56=0 2. -6n*-8n=0
(4N x-1) =0 ~20n|(3n +4) =0
X=%| x=1 h=o| n=-%3
X123 [n-5-% .03
3. 37 -8r=x*+42 4, 5° +16 =42y

2xX°-g x-42 =0

2 [ X5~ 2D =0

2|(X-TX x43) =0
240| X=1 | x=-3 X=$-3 1]

5y%-424 tlk =0
(sy- 2J(y-g)=0
2 [yee

=52 5

Directions: Solve each equation by square roofs.
simplest form.

Write all irrational and complex answers in

5':f’;“=0 6. %k3—17=—7
P £ 2=
?z:_L e =10
1 : k%= 40
p=* _"'f P:iéj K= 2y k=224
7. 2w +29 =-2] 8. -3w* -78=138
IW? = -5D -3w? = 21k
W= -25 wr=-12
w =3 {25 W= 12
[W=ts5i] W=z biJz

Directions: Solve each equation by completing
answers in simplest form.

the square. Write all irrational and complex

9. ¥ +4x+8=0
X%+ 4x = -¢
X2+ Uy ¥4 =44

(w42)? = =4
42 =
X+2=%2(

X==232/(

10. v —16v— 48 = 4
VZ- v = 44
VZ-1bv +od = 4+ LY
(v-¢)% = 108
V-¢ = +log
N-§ =203

\fﬂzilaﬁj

13




1. ¥ +15n+43=0 12. 2p* —-6p-58=0
N+ \sn =-43 " pz'BP 29=0
yz ] 22.5 = - 2 -
(n+ =\ - 53 pr-3p+T = 214
= ) L .-.é-)" = .2'_1".‘.
nyls =2 [E2 o= 5
_q_ r" ?- > = s le_q_I
n=—_‘_‘5>_i{_é—§ k-ls# 53} =
i 2 n’ﬁ 7 ?z_é + 3{29 P: ;3_.'2-;3—‘]—2-'—3]
J 2 - 2’
13. 4w +10w+12=0 14. ba" —4a-22=0
Bwz+io w=-12 baz-4a = 22
.15 = - 22 - JEL
W +.EW 3 | S0= 3
245 2 o - 25 2—_.2.‘.. J- = .U.. =
w+_w+_§ 3+...1T; i} a+°| Si'q
(w+‘5) -2.3, La"i‘)z=5q—q
' . a-"é' iRy
Wg = *.]-23 w:{s:t 1»_123} 9
Y -4+ a4 L1
| az3* B o
Directions: Solve each equation using the quadratic formula. Write all irrational and complex
answers in simplest form.
15. 5n2—4nl+2:0 16. 812 +4r—-1=0
n: Ll.-__\- \JL_;DZ‘. _4(5)f2.) Y= "“'I' 3 \ HY“- "L”g)('ﬂ
2(5) 2(%)
= 42 V3 - 4%
1D lb
A ] =t %
- SEaiE r=-4 243 r—i"’-"E
o & b Y

Use the following information to answer questions 17-18: A bullet is fired straight upward with an
initial speed of 720 ft/s. Its path is modeled by the equation & = -162+ 720¢, where h is the height

of the bullet f seconds after it was fired.
17. When does the bullet fall back to the

18. When does the bullet reach a height of
4,000 feet?

ground?
Lk 120t =0 -{let% +1201 =4H000
-\ tlt-45) =0 P gl s
120 l L=45 =120 *[(120) 2 -4 (- 1W)(-4000)
2-10)
= -120 {224 t= 5,385 |
45 see 52 [L5see or 38.5sed
14




Practice 8: Radical Equations

Directions: Solve each equation. Check for extraneous solutions.

1. 3x-22=Jx+10 ~ 2T, ¥
) Z.J;:\/M-Za
3X-22Z = -X+I0 o
45{:32 o= H2-ba
OL-"-'(al
3. Y282k =Y2k—24 ° 4 o 2uzJTu-6*%
728-2% = 2¢-24 A-2u=-Tu-b
2% = Hk -24 1B=Z=~ T
52= 4k 15=-5U
E 3=k -3=1
5.3f7y+4=15 6. Y 1-13m+8=12
32 CEET
N =5 -1-13m = 64
_]\1+Ll_=25 -l3m-=‘lo5'
T = 2 £m= -S_I
y=3]
7.8-Yp-5=9 8. -6\J10-3c +2=-10
-%}'l;:g:| "(oxllb-sc‘-:“'i_z
3{——_ 3‘61)3 j6-3¢ = 2
ps 10-3¢c =4
p-5= | -3¢< -b
— c=2
[e=1]
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0. D s®
-1-2¢v =r?
0= r242v +l
o= (V'H)'(Y-H)

=/ ‘(—-—l

No Solwﬁ@'

10. 7=92-20
2°=9z-20
22-92 420 =0
(z-D[z-5)=0_

2=+ \Z’ =5

BRE

1. b=1+ 7 3b
(b-1)* =\f—-’
b*-2b 41 ="1-3b
b*+b-b =0
(b+3)b-2) =0

b;z-%lbn

12. lly+78+7=y+13
m:(\l +0)
Iy 4718 = y*+ 12y +30
O=y424y-42
0= (y+Ny-b)

v/ |y

b=2 N=e
13{(4_3.;)‘5)2((4_»)%)2 14, (125-16)3 -1 =15
H-3y=H-v ((llh-lu)‘} 16 %
-4= H42v 2h-1k =3
-8=2v 12Zh-lb =8 12h-l=-8
h=2 h=2/3

|h=1523

7
15. 256 =2(10/ - 6)*

¥ b
bd= 10j-6
0= 10y

3 2
16.{(65" + 30075 2163
x*430x = 30
X*+5x=0
X%245¥% -l =0
(xw)[(X-l) =0

X='la—‘ X=

X= -]

16



Practice 9: Rational Equations

Directions: Solve each equation. Check for extraneous solutions.

1 x =8

=
x4+l 4

U (y-g) = 5(X+1)

2. =
2m+7 3m-8

6 10

W(3m-%) = 16(Zm+7)
1gm -48 = 20m 170

HY-32 = 5x+5
327 X485 -4¢ = Zm+170
E -8 =2m
M= 59
3 p+4:£ 4. 2 " w—2
3 p—6 2w—-3 3w-7
(p+lp-L) = 39 2(3w-1) = (2w-3)(Ww-2)
& Wl
2__»2 ._Q_L)'_-;gcl bW"l"‘ = 2w -7 b
?2 f o I 0= 2w*-13wW+20
¢ ‘2{3 G0 0=(2w-5Yw- 4) |
(o...ﬂ) p+1):0 =2 -] Wsi W= \W: _5..1'-}
‘?:‘1 'Fz.-—-'] [_P %. 'q} 2 \ L\ %.'7- }
1T 1 2 1 n=4 1
5.\:g+6—a=; [00. 6.{5— ot :5],31(‘2
O+l=12 h-n+y=n?
| Y=n2
=1
s 12 =h

2 2 &
s 4-a-30 5 4'+4q m]"‘r
q q

o -4 -30 + 3¢ = 4.7 ¥4 -12
4*+2q. -30 =q>+4q -12
"18= 29

i

L 3%- 18 &1 #-)
gLx =+ = :
[ 2 i x ] ZX

IN2+4y-30 = X2-X +2X -1
2%% + 4y -30 = X*4¥X-2
')(7'-\-3)( ~4% =0

(x+H|(x-4) =0
x=1] x=4

[x= {143

17



3r-18

2
9E}-+T=r - ]'Zr
r 2

b+ 2v = -3 -8

]

C.i'

a —4.5: 5 5a-10
2a’

10.\: ] 42

2= aZ-Ha-s +2(5a-10)

b (B2 2=0%-4a-5 +10a-20
0=(r-e)r+3) 0= 0% xba -27
r=g lv—=-3 0=(a+A)(a-3)
L , o= -9 ‘a= 3
V= -3,? asi'qlg‘}‘,
3 w+éb ] Sy-15
11%+;= = 1-2\“7‘ 12.L+2+ Lo =é:]-(5+2
w? 4 W = Wt |45y -15 = by +2)
(W% 45w -, =0 5y-14 = by+12
(2w+3)|(3w-2 )=0 2479
W= :§.| we 2
Z 2
-2-3
W'izt%ﬂ
i 5 3k-15 1 k+é
'E,,.+3=3H3 5] ayae ”'[ﬂ'?zm:\ -k*-2¢
= b 3k-15 - (-2)= K+l
| = V4l 3-15-K+2 =K+l
-5=V 2X~-13 —_-\('Ho
K =14]
sfoag-m ams) [t s

I+ (Zm-1) - 2(m-5) = (m-2)m4
ZmE-4m-U =~ ZM3 10 = mE5m
ImZ - 4 = M*5m 4,
mZ-m-2=0
m-2m+1) =0

""h..-.r

m=z | m= -

[LT.—— g-l,zﬂ

(X-3)(X+1) = (X+1) = bX-12
XZ-2%-3-X-1 = bXx-12
Y23y 4 = bx-12

Fe-Ax 4120
(X - )x-) =0 _
X=3 | X=| ixﬁ\.s}

18




Practice 10: Inequalities

Directions; Solve, graph, and write each solution in interval notation.

1. -8(2-7x) = 264
-+ 8bx =244
50X 2 280

X z5
C5,00)

—y

bbb

-2 -6 -4 -2 0

2

4

6 8

2.-14-2x28(x+7)

~4-2X 2 X +506
-oX 2 10

X£-1

(—29 "'1]

t—9
B Mt at dne e o i a2

-8 -6 4 -2 0 2 4 ¢ 8

3. 41+ 8pj+6<106

‘1+3219+(o < 106

. 3+8(-2y—4]<-163
“3-lby -32 £~13

32p 410 ¢ 100 Yoy =55 & -1l
320 <9 -y £-128
043 | Y28
(~00, 3 E?I 00}
p IR SN a4
-8 6 -4 -2 0 2 4 6 8 -4 46 4 -2 0 2 4 6 8
5. 5-bw<2-Bw+1j+3 &. —11-8k >3- 8{1- 6k)
5-bw < ~bw+2 +3 ~HU-8R>-3-3 + 43k
S-bw < ~bw+§ ~ {1 -8k > -1 +4%k
O>86k
625 osk ; |keo
& C—OQ,O)'
e S % e
- -6 4 =2 0 2 4 6 8 £ -6 4 ~2 0 2 4 G 8
7.15-2d <9 8.134+8>17 3445 2-1
5-2a ¢ q §-2a2-9 3:;5 ’?i—‘ 3d<¢-22
- ~20n2 -1 > o «-22
20. £ 4 . 1 d >4 — 3
rz-2 oz Aé'a—wrd>47
\-éfz?-lé]j} (oo %) v (H122)]
< &—o0 o>
-4 -« 4 -2 0 Z 4 4] 8 -5 -6 -4 -2 0 3 4 6 8
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9. ~10+-8z+7<15 10. [4-A+9512
|-32+7(<25 14-x| 73
-%2 +1 <25 -e2¥1>-2s | g =X <=3
-$2 i “HETek
-X 7 - -X< -1
z7-9 Z <4
s St | X7
.-—1 Z % (_Ll ’ X‘l or X?T
4 (-90. I)U(-'|OO)J
("% ;"l)
[ IS B —0 o~
R L e e e e S B o o e e
-8 -6 4 =2 0 2 4 6 8 -8 -6 -4 =2 0 2 4 6 8
i 1ss+d 12. =53y +10|> 25
- | \39+ibl¢5
55451 £ 10
| 394+ <5 3y +10 7 =5
S5s+5 <D Ss+5 2 -0 3y ¢-5 3y >-IS
6S &5 58 Z-I5 ‘-j""s yr-s
e L § Z2-2% .
< K -2
<285 < | t{i;‘j _L‘r)g
C-3,1] ' 3
>0 o—0
-8 -6 -4 =2 0 2 4 6 8 -8B 6 4 =2 0 2 4 6 8
13. —7|6- 94— 4< 88 14. 10+ 8|2x -7 > 82
-1 -9y | < -84 ¢l2x-1]z 12
lb-ax|> 12 lzx-1]z 9
T b-aX <12 =129 Q,x-“lf 4
Ay > b -~y < ~Ig 2X Z b Y &=
Xzg X & -
x<—3%. X722 _
X&- or Xzg
» e -
X< %—or‘ X> 2 (-00,-1J] ULCg,0)
(““;“%’g)uizsm) Sl
R —

8 6 -4 -2 0 2 4 6 8

-8 =6 = =2 0 2 B 6 8
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Summary Review for Fundamental Skills

Topic 1: Exponents and Polynomial Expressions

Simplify each expression. Write all answers with positive exponents and in standard form.

8a*p' ) . a'"’bg 1 N -3
(5 e 2 (Lov) (o)
* oy3 -3
[Ha7p™ - (w3 0y )
1 = "-:}- X.s\‘ = —,TE!'_'{
3. (5](2 -7k +9)_(-2k+6k2+]]) 4. _58413(35,5‘_73)_‘_453 L0584t

z \-ﬁfﬁd Z16gM 4 + 256543 + gt

== 1e" ! + 358°43

5. (-5g+11)(~5g-11) 6. (2r-5)° ;
= 260% + 554 -659 -2/ = (2r-8)(2r-5)(2r-5)
9 3 3 = (ZY‘-‘:")) ("lrz-ZOr +2§)
,lzsg 2-12] =8y 340 P+50r - 20,2 +100, 125

| :Er:‘_[‘,o,-z +1g0r —125

Completely factor each expression.

7. 12w° + 26w’ ~10w 8. 64c* -121d°
= 2w (LwZ413wW-5) =\(802-||A33(802+Ilo{3)
:\ 2w (3w-D(2w+s)

9. 27r° +216 10. 32m—162m°
= 27(r%43%) =2m (1 -gIm")
= z -
= 29 (_Y’-FZ)(YZ-ZF-H{-) 2Zm (4 4 qm )("l Qrvlz-)

=\ Zm (44am2)(2+3m)(2-3m)

1M, X +9%° =112 12. 8v° +20v* -18v-45

A0 HD(x2 ) | =42 (2v+5) - % (2v+5)
=(4v2-9)(2v+s)
(2v+3)@V-3)(2Vv+s)|

1L
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Topic 2: Rational Expressions
Simplify each expression.
10m® + 20m* 14 84’ +244° 5a” +43a+24
" 15m® +15m* - 30m " 18a+54  104° +éa
= 1omZ(m+2) = 303 0+3) | (5a+3)(.+8)
|6 m (m2.+m _l) 19 (0-*3) za.(Sa-l-B)
= Q +Q
= Zm (n+2) 2m aZa > - [2a(04®
A —
2 0ma2) (m-1) 30n-1 4 o
7k* -36k+5 42k +6 1632411 (=¥
"3k -12k~15 1-49k* " -1 (p+ 1D p-)
= V‘“i““%""“&?—.@ - 3p4l -p+]
AllempL A 1 (pi-\)(?-l)
= = = 2042 . 2(p+V) 2
30k K+ Lere = 2RPY- -2
CptDlp)  (prDdlp-D p-
(3he) 35 3 (2x-3 q 1 2
a3 G (2 AT S
v, 1 13 L
= 3% (x+L) -3(2x-3) F 3T e 3
(2x-2)(x +) v ot
= 3XZHEX-bX+A | 3xP+12x49 3
(ZX-(x+2 Zx-B(%+4) "_"_(5.1'-'-
Topic 3: Radicals and Rational Exponents
Simplify each expression.
20. 23-104x%y 21, -5364m"

19. J294p

=7 3’_gxb1b ,{S/E,;I‘

-
-

5 o

Y o

1

'-'1(3 bf)

“lom* Yym3
23. —232k° - Y-40k?

22. —4J27 + 6:/45 - 75
A WATE - VB (E

T3y {5503

=El’1\l§+\8@

= -23/-p¢"
=-2 3¢ - ok

H¥* Jiow

22




24, 24/5(10 -4/20)

25. (3v2-7)

2450 - 24{Too = (3{Z-D(3{z -1
= 2{zs {z - 2.0 =q{{ -21J2 - 21z +49
:@+ ol =12 -42y2 +49
=lb1-42{Z
24112 3 r" 27. 2""/_)(5 \r_)
“e; 1642 Zz ( +J3) (5-13)
= 2 [ = lo-2B+53 -{q
26-5{3 48{2 -9
o 3\[? = 1+3{3
22
28. Rewrite in exponential form; NS 29. Rewrite in simplest radical form: (24x?)%
=[(268)2] o |72y 2%
=‘Zx2 2Ex i

Simplify each expression. Write your answer in simplest radical form.

15

Y2

0.k = kM us U8 « 12
31. u‘2 = -—u-’—:z"' - u
= "iJE]— = (l;r
41,3 — — |
A ¢ Vi =
Topic 4: Complex Numbers
Simplify each expression.
52 . RV 92
32. i - LLq)lg 33. (-3i") f:
; z - o, 7 i,lz
o3 ‘ 210
\ "[ ="5"}L33 = _5-.'. “‘9.L
= -S%i
34. -i(5-i)+2(3-7i) 35. (-2+9i2 g
=540 0 -4 L (’Z-l-"lb)(_ ?.4-‘\:.)
= =19 -] +0 = H-19L -18L rRIL°
Armr = 4-300 -8) = E'n -3L.C
5-19L |
(6-10i ) - i i 37, L7 -4D(-2-0) . 5L+1L4320440%
36. S [ = -lc -lzDL» L-BH)( -g-0) T T
A = s, +390-Y
10 -, _[~10+ 4! ;
"t =5 2 = 52+34c ,,@ Lt
" q s 5

23




Topic 5: Linear & Absolute Value Equations

Solve each equation.
38. 8-4(n-1)=-2n+18

8-Un +4 = -2n+ig
-Unti2 = -2n+ig

39. ]—5-(l2x-§] 9(2 + 5%)
2 3

X=3-3,23

4Sx-lo =18+48X
-2n = b ~10 £1¢
n=-3 "7
S5p+q’ 41. 4a-7b=ab+3 (solve for a)
40, ———=8 lve f
fsolve ford Ya-ab=1b+3
Bip Hpr =Rl al4-b) =Tb+3
¢ =5L-sp o= 1b+3
r "5" SJ "I"b
Solve each equation. Be sure to check for extraneous solutions.
42. |5-2x =11 43, |4p-9|=6+p
5-2% =1 5-2x =~ H4o-9= b+ p 4p-9 = =L, -p
i -2x = -lb 3p=IS sp=3
X=-3 Y=8 ?-—5

=3
P73

p-13 5]

44. -7110+3m| -7 =-63 45. -5-|-3-4x=11
-1|i0+2m]|= -|-3-4x]= I
lio+3m | = 1-3-4x| = -1,
l0+3m =3 I0+2m =-%
3m=-2 Gm =%
i m=-b
m=-<
3 m :1’(’*‘32.'
Topic 6: Quadratic Equations
Solve each equation. Simplify all irrational and complex solutions
46. 2w +3w-5=0 47. 36c’ +8=4
(2w 4s)(w-D =p 2e2 = -4

.'.-"5 =
=

w1213

24



48. 12 +9r+465=—r 49. 4> -28=8y
Y ?410r =-0LS H4*-8y -28 =0
C*410r +26= 4S +25 Y= 2 gy (d)(-28)
(r_,,s)'z = =40 214
r+s < IyJ-4yo \’:8"\"\[;;;
r=-5%(Jqo J
r=1-5%2iliv} y=gs el \1‘1\:2&

50. Janell is standing on a set of bleachers and throws a ball into the air at an initial velocity of
35 ft/s. The height of the ball, 4, at t seconds is modeled by the equation h = -1622 +35¢ + 6.
How many seconds will it take the ball to reach the ground?

t=-35% [35% 4 (1))

“lb4?+ 35t +b=0

2-1W
t< =35 ¥ {|,09
...32
t= -O/{to , 2.35 \__2’35 |
Topic 7: Radical Equations
Solve each equation. Be sure to check for extraneous solutions.
51. Y5x-17 =3Y3x-5 52, 448-2k-7=1
5x-1 = 3X-5 Y-y =8
-\ =
?_zx y 3‘26 g2 =2°
E -2 = |b
4 -2Kk=¢ Yy=-4
53. 4'=/30-13u = 54. V-dm+13+2=m
W®=30-13u |'”lm+13 2=--(m-z.)"

Wz + Bu-30 =0
(u.-l-lS)rUk-?.)':o

w715 ' w=2

“Hm+3 = m*-dm +4
0=m2-9

4
55. 7-2(3p)° =-155
-Z(sb)"@ = —Na2

((Sb)%) =g¥
3b =27
b=%q

[b=32.9

0 =(M+3Y(m-3)
m=/3 |m=3
56. ((z ~Ba) ) 13
-8z =9
Fho G =9 50
(2 -)(z+1)=0
2=q | #=-I

[zt

25




Topic 8: Rational Equations

Solve each equation. Be sure to check for extraneous solutions.

7. k46, 2
"4k k-4

(K49 = 2(4-k)

1 _3_17. 942
53.E2? - k2] 2k

wADU-2) = U +3u-4+3
W2yuu-e = K*43u~|

K242 -24 = g-2¢ I-bk =2
kK*t4k-32 =0 -bk = |
(et k-u) =0 ; [ y= -_'.,
=-3 k/'i k=-8 | k=
so.E+3=“’:f';-4+uf2].(,m.) 608i§+’j2‘_?;‘”_‘52=6;’:]‘5] {y*4y-s)

(Y#3dly+) + Y-8y +12 = oy -L)(y-s)
Y2y +3 ty?-Ry ti2= bgz-sgj +30

b= 2u-I 2y?-Hy+IS =b52-3{¢5 +30
5220 0= Hy?-82 IS
gy e
5 Sl _ — TR Y
2 e Ly |97 g
Topic 9: Linear & Absolute Value Inequalities
Solve, graph, and write each solution in interval notation.
81, -6(4d +3)+8<110 82.12x+7|<3
-4 -18 ¥8 <10 Zx+1 43 2X+17 2 -3
244 ~I0 £1(D 2x ¢ 4 2X2 -p
~34 <120 X& 2 X2 -5
" . \ ‘55 X&-2
E7 5, s, Cs,-2]
o ? ——e
(-I-I—I—I—l—H—I—I—!-I—l—I—I-l—!—I—I—!-)
-8 -6 4 -2 0 2 4 6 8 -8 6 4 -2 0 2 4 6 B
63. 3|-10x -2/ <—54 64, 2-3-3t+4 > -61
|-10x-2] > 18 "3|-3t+o| 2 -3
-lox-2 718 -IOB{-Z 4-18 I'st'l'b l < 21
-10x 720 TR :’: “344b £ 2) -3t b2 -2|
L~ r~ 21 -
s 2 t2-s Szteq =
(~00,-2) VY (1L, 00 -s.a] e
-8 -6 -4 -2 0 2 4 6 8 -8 6 4 =2 0 2 4 6 8
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Quiz Part 1- From Practice 1 - Practice 3:
Polynomials, Factoring, and Rational Expressions

Directions: Simplify each expression. Final answer must contain only positive exponents.

1. (=5x7°p)-(6x"y ") + 7x° 2. (7m>n®)? 1 _ZSXS
= -30¥%5+1x°S :_q;l__ml,h-lb o
2. Y9niv
i
= 3 2 271 21
P b 2,358 : £
3 (Spbq_gj 4, (_Ec *d 8] (=6c*d) —5y
3
A e 4, d
- = “d™'"v . [-210cvd3)

= —5'—‘ cod -13

Directions: Simplify each expression. Write each answer in standard form.

5. (3k* - 7k) - (5k* + 2k - 8)

7. (7m—4)2m-3)+(2-9m)
> HM*-2lm -gm 412
A2-9m

9. 20c°d® -16c%d

= UeZd (5e?0*-4)

11. 27m® +1254°

13. 2v® +10v2 — 48y
= 2v (V24 5v -24)

6. (3a+7)* —5a(a—-4)
Q0+ 2la 4 Zla 449
-5a* 412000

8. (x-2y)°
= (%-24)(X-29)(X-2y)
= (X-'Zlﬂ) LYz'q)(ﬂi-quz)

5. ~2k*-9k +8
6. Ho%*+tbZa +49

7. 1YmZ*-3gm +1Y4

8. X3 -by?y 4 12¢y? -3y

= X3-ux%y + 4xy 2%y 4 Qxy?-g

Directions: Factor each expression completely.

10. p° -81p
= plp4-81)
s F(pz—*‘ﬂ(pz-ﬂ)

12. 16k7 -2
= 2k(%Y3-1)

14. -n* -n* +20
- (N2t 4)(-n2 -5)
> (NDEN-2) (-n2-5)

27

YeZd (5c3d*-4)
10. P(PZ+"(3({J+3)({J-3)

1. (3mM45n) (Am2-15mn +257)

12. ¢ 2¢-)) (4L 2+ 2 41)

13._ 2VIV+ $(v-3)

14. (-n+2)(-n-2)(-n2-5)




15. é6m® —25m -9
bt~ 27m 4 Un
>m (2 =~ 4)=+) (L —4)
G 41 @i g)

16. 9k° +45k* — 4k - 20

= A kas) -4 (K+s)

15. (Zm-9) (3m+ 1)

16. (3K 2)(3k-2) K+5)

= (Ak%-4)(k45)

Directions: Simplify each expression.

(XX +8)

= K
14X

C+2
9eH

IZ

—_—

WH4

]

—

N+Y

18y%4 20x
| 5%

r+Z
1

15
z

+4
~ e

X%+ 14%4 30
X+5)(X+8)

x’ —16x+63 ¢’ -4 4¢” + 20c
e =pm = 18 Bf 608 Bt 17.
_ =) - (EADED | ye(e45)
(1+X)(1-%) 22 (e48)  3eile-2) 18
. Heledd
3(PC5 19.
19 dw-24 Ow? -9 20 2y2+5y—12;y?+8y+16 20
" W +3w-4 3w’ —15w-18 " Yy -8y+3 2p-l '
<Hlw) , AWED) “(2-3)444) , 24! .
(wrdw-)  3(w-5w-b) (21 )y-3) ()
- HWA) |, 3wrDw-D) 22,
(waw-) (w-b)w+)
by 4 s e . r+8 23.
2\|§+§§ z-%— r—-4 r’-5r+4
Y2y -¢ -9 24.
2 =
. % + 20X rD )
S - r22r-8  _ (rd(rd2) 05,
G-y (-4 Le-D (r-H)
< ) i o R - e
23, M M & 3 2
M . 2,21 ¢
a¥ -5x 10x° 2 p ) f
o M43 g _ [P, |, ZP
HY ox+ ) T bp? 4-p
_ 3(gx+) , 5X . Lp-Dpd) . 2p & ‘_L(ﬁq_)
7 W+ lepZ H=p
25. Write an expression to represent the perimeter of the friangle below in simplest form.
o o8 3 4 X
3 X+€ X+¢ X45
8
= M b L XX
X4 X8 x¥s XiE
X X430 4 XZHEX L X IHHXH30
x+5 = 8 (XAXHE)



Quiz Part 2- From Practice 4 - Practice 5:
Radical Expressions & Complex Numbers

Directions: Simplify each expression.

S5
1.4/320 2. J-54 1 iﬂ—
AP NESIVES 2. 2
3. Ha*bgﬂv
3. 484"p 4. 81p"¢° 4 qf QJ:;_
Jloa™p* {3b 4 |g\Faars .'*[ ‘03 :
Directions: Perform the operation. Give each answerin simplest form.
5. 148 6. \10w* V15w s 7297
4 l 172 \IIEDWS
‘ swJb
EY J2swt {1 &
7. i3 -2Vp
7. -475-24 + 712 8. 2:135x — x*J40x s Uy23Bx
HEBEERIEE 2 X G
2043 - 2y 41473 bx* 3fsx - 2x2 I 2. 35 -513
0. 18- 29J2
9. \15(v3 -5) 10. (7-v2)(1- 4V2) n. g?
\ﬁ,‘_:s.- "I"‘Z‘Kﬁ'ﬁ'\' "\\r'-—i 20%x
- 1-294z2 4% 123X
{q{s - {2513 -2
13. 2
25 - I8 12, [20 - I3 DJZ +15
1. 8\[_8- r \J__X 14. [ r
%-\9 44 3x 3x
13 (3VE-23 2 53 (2+03)
N2 - 2 (2 2-3)( 24J2)
3 uo- 236 _ (|is - oJ3 +5dq  _  10V3 115
12 L] 44208 -2J3 - {3 !
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Directions: Write expression in exponential form.

15. ¥

16, Jab®

15.

16.

14

(aks)”?

Directions: Perform the operation. Write each answer in simplest radical form.

I 7

17, k2 .x3
\{I‘ajq s L' K‘s

r3len

&
6

EACAPT

1%.

18. (64x%)°

o
()

4

20.

w?

w“js = 3 1l

W

Directions: Write each expression as a complex number.

21. J-98
R P!

22, 24..J-8
(V24 - g
Lz
-3

Directions: Simplify each expression.

28

[4Y = ¢

25, (-1+5i)-(8-9)

27. (-7 =2i)(8 + 2i)
SR IR (PT y
-5l =300 +4

09 (£3+10i )1

21 L

-3041DL5 | -3i-1D
20 -1

24, (2i'*)* - -5/
3¢ %-50"
-4p(5°
Eh” i
26. 6i(3-2i)+ (-8 -7i)
1%L -120% -9-1¢
WG 4129

= -40--L

28. (4 +3i)°
M+30) 4430

b $1Li4120 49
lb+24C -9

(6-D(2-4¢)

30274 (2-4¢)

12-240-20 440 .
H-gi el bt

30

k® Yk

17.
18 HxHx*
9. bl
20. w? %1
21, 12
22, -‘N—i
23, l
e HOL
25 "Dl 'HLlL
o6 441t
27. ~82-30¢C
28, [¥24C
ID+3¢
29. 3
4y-13¢C
30. 1o
12-2Li -4 _ 9-2L¢L
4 +lb 20



Quiz Part 3- From Practice 6 - Practice 9:
Equations

Part | - Linear & Absolute Value Equations: Solve each equation. Check for exiraneous solutions.

1.7a-(3a+1) =-5(2a+17) 2.-8[1-%x)=10x-4(x+2) . O=-b
—’a.L'-&.‘I = -I’Da-gg . -g.l.bx:: lox_qx_g 9 Oo
a-l = -ba -2 - v
_ 3H0X = X -8 s r=3-50]
IHa = -84 o - o
g =-9 P
0=-b ‘
3. 9-2r-4l+6=60 4. |6w-15/=3w-21
q,'lr-*ll =g bw-1S =3w-2| bw-i5= -3wiz)
|-2ed[ 24 3w =, w=3e
“2r-4=(, ~2r-Y=-p W%"Z W/"[
~2Zr=10 ~Lr=-2
r=-S |

Part ll - Literal Equations: Solve each equation for the indicated variable.
5. 3a-5b=7(a-b) (solvefora) 6. x= % ¥’ -z (solve fory)

30-5b=Na-1b

X'\'Z':-i'\ll

..l.'a_:___zb

o=, Xt 2z =y?

y= -"—’\IZX-?Zz

Part lll - Quadratic Equations: Solve each equation. Simplify all irational and complex solutions.
1

7. x?’-4x-45=0 8. Ek2+53=5 7. X'-'—" ?_"5)‘%3
afxts)=o L2 =g YT
X =9 fX‘;"S' KZ = -9,

K=2y9
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9. vV +14v+17 =0 10. p*-12p+88=0 9. \I-'-'?"'] :-l"'lJ—Z_j
VE+14y=-17 p*-12p = -88
- i N
V414 +49 = -7 +49 p?-12p 436 =-88 43¢ |'*—F L ZLJE"_}
2 - ? S S |
(v4M? = 32 (p-L)* = -52 n_y=1°-3,%2
;e 4% 1
V+1 - 2 32 ?_{o =% -52 12, r=3 __Z—E.}
V=-1t42 P=bx 2013
1. 6y*-19y-7=0 12. 2:2+8r+1=0
V=193 {Ha)4(0)) F=-9232-4(2)())
(L) 2(2)
=192 {529 r=-3+ s¢
12 ,_’
\i: |°l:l:23 Y = -9 3
12 e Zﬂ"
|.|
A8, el
TN
Part IV - Radi:.:al Equations: Solve each equation. Check for extraneous solutions.
13. V35-28=16=x ~ 14, 5-2%%w-1=13 b X=1
3X-2% = 1L-X -2Yqu-1 =9 :
3 w: —"‘
Hy =4y Jaw-1 =L4)d L
— [
L Iw- = -4y
AQw =-63

w=-T
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2 ;
15. n=vJ6n+30-5 16. 45=5(-1-7p)3 15. h=i-6,|}

2 2 3
(n+5¥ Vn+zo 9% = ((17)%8) " 6_p= 14, %]
N* +0n +26 = bn+30 Y29 = -1-7p '
(n7'++"in‘6=O 27==1-1p -21=-1-71p
(n+5)(n-H=o 28 = -Tp “2o=-p
N=-5 j n=| -4 =p 24
_-'1_" -—

Part V - Rational Equations: Solve each equation. Check for extraneous solutions.

2 x+2 7
4 x+5=3x:]1 L Eﬁ _=_] ar . X:{was‘?
bxt22 = (‘;"‘5)0(*7-) 2(a+) 44 =q 18.__QA=-18
[0)(‘1’22:)( + X +(0 2414 +4 = n= |
0= XZ4X-12 _ 19
20418 =a "
0= (X +'-|3p(—3) 9 = -G 20071, 3
X = -4 ]X’3 a=-18

n=1_ 1 1 2 2 1 1 2
19'[1-1-3_:14-3 n2+3n]. N"43n 2°’E+2 c-cz+2c].c t2¢

e -] 2e*- (C+2) =
Y\"-I“\-‘:n-l ZC?'-C-Z =
N*-2n+i =

262'-0_ -2 =
(n-Dn-N=o >0
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